Homework Assignment #6

Due 27 May 2004

1. Prove the following from first principles of probability theory

P(A|B) + P(~A|B)=1
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             In the second exercise, what is the meaning of 
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2. Given P(M) = 0.6 and P(B) = 0.3 and P(B|M) = P(B), fill in the following table, if possible. If not, tell why not.

3. You are given the following Bayes' net along with the specified prior and conditional probabilities

F ------> H

P(F)

	Food
	

	No
	3/4

	 Yes
	1/4


P(H|F)

	Happy
	F=no
	F=yes

	No
	1/2
	0

	Yes
	1/2
	1


(a) Write down the table over {F, H}. That is the table for P(F,H). Now, what is P(H\F=yes)

(b) Now, what is P(F,H=y)

In both cases, clearly show how you obtained the result.

4.  On a standard keyboard, the letters WERTY are adjacent to each other.  (Pl. check your computer keyboard.)

In a long text of English the probability of occurrence of E, R and T  are as follows.

P(E) = 10.31%, P ( R )  = 4.84% and P(T) = 7.96%. 

A typist makes mistakes by hitting the key to the right or left of the intended key with a probability of 5%. If the typist is copying from an original document, what is the probability of the letter R occurring in the copy?
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